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1 J Hh [ o S 100516100239165 B T A2 37.3 39.5 77
2 J Hh [ o S 100516100238161 15655l K% A2 35. 8 40 76
3 J Hh [ o S 100516100237136 XI|/NB REF 2R A2 33.8 41.5 75
4 J Hh ] S 100516100237147 | FEBiss L IGEL A2 34.5 40. 5 75
5 J Hh [ o S 100516100237150 OB AR PESt A2 34. 2 40. 5 75
6 J Hh [ o S 100516100239164 H/E T A2 34. 2 40. 5 75
7 J Hh [ o S 100516100240169 S A AAK A2 34. 4 41 75
8 Hh ] o L g 100516100237158 AR ] R A=A 39.3 0 39
1 Vo | EREREEE] 100516100345192 R e =20 38.4 42.5 81
2 Vv o | PEEREESE|  100516100345213 AR &V A=A 35.5 42.5 78
3 Vo | EREREEE] 100516100347240 7K > XA =20 36.7 40 77
4 v [P EERRESE] 100516100345195 B H g =20 34.8 40. 5 75
5 v [ hEERRESE] 100516100345217 E= & =20 35.5 39 75
6 v | tPERRRESE|] 100516100348247 "W = =20 35.9 39.5 75
7 Vv | tPERRRESE|] 100516100345203 paEzEET B =20 34.1 40 74
8 Vv | TPERRRESE|[ 100516100345215 YIRS B =20 34.4 40 74
9 v | tPERRRESE|[ 100516100345200 A M % =20 33.8 39 73
10 v | TPERRRESE|] 100516100346227 EEX & =20 33.5 38.5 72
11 Vv | tPERRRESE|[ 100516100350251 AL M =20 35.5 36.5 72
1 J U 100516100454267 J 8 N Witk Ll 2E 34.2 39.5 74
1 J ) 100516100555298 i kIR LA 34.9 41 76
2 J ) 100516100556305 A F UK i) LA 35 40.5 76
3 J ) 100516100556301 B i) LA 35.7 39 75
4 J ) 100516100555293 W e FH Ll AL 33.8 39 73




1 J SARBEH 100516100557328 ¥t LR Ll 27 35 39 74
2 J SR 100516100557320 TR AR T YENN Ll 27 35. 1 38 73
3 J ARG 100516100557321 LR [ Ll 27 34.5 38.5 73
4 J AR 100516100557324 S T YENN Ll 2 A7 34.3 38 72
5 AR 100516100557323 Xz YT Ll Z AT 34.2 36 70
6 AR 100516100557322 1)t G Ll Z AT 34. 1 35 69
1 J IR 100516100558339 ke SfiZH, Ll Z A7 34.6 39.5 74
2 J IR 100516100558332 7t S Ll 2 A7 36 36.5 73
3 o oK S 100516100558331 W v Sfd Ll Z AT 33.6 34 68
1 J P aRay 4 100516100659351 BN L 7KF A2 33.9 41.5 75
1 J ARG s 100516100760356 FEHs gk 57 Al N2 36. 3 42 78
2 J A 5 100516100760363 Ko K 1 Al Ll Z AT 35.7 40. 5 76
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